¥o v il 1 90 7

a d
AU IFAINTINAITAT

NHINNFITIVAIUASHUNS

MIaaUnanIa UszsiniansAneIn 1 szdtlnsdnu 2552
Tu 27 nsnginu 2552 781 09.00-12.00 U.
17 215-351, 216-325 MsduaziNouFng W94 R 300

fAga

L4
Qs

v = 9/ Y e 9 g/ Y [

1. dedeuNvienun 5 do Iihnsdludeasuynde yodeliazuuumiAu
v Yo 1 Y a g 3
winnszay luwe Iiimea undsvesdoaon'la

Yqy A a .. ¥
ayaalv 9nesfiany LAz dictionary 14

CalS A

Tdeygnalinenaislag hiesaeoy

-

= faw
0.152An MaNNsaNSoq

bl

feendarey

10 | AzuMwd suuitld
1 20
2 20
3 20
4 20
5 20
37U 100

] )
v o A

nasalumsaey diuduinedSuanlusieininada wasWomsiine 1 mamsanw




v 2 910 7

Keq, = Ky tHy¥ oo

P, R

}Req/z Ke WKa
WY = AyCor Ut + Ay Sinurt
= AgSin@lexl,t +A, tord, SiNI,T
T Ap sin (W, t +¢,)
A, = [az +aZ

$, = tan ¢ Al
(4 A,

sz = mX
iM, = Joé
JO = JG 1-de

A
fov @ beam, bavy L = ml




sva Wi 3 9 7

1. A machine is subjected to the motion x(t) = Acos(30t+c) mm. The
initial conditions are given by x(0) = 5 mm and x(0) = 1.5 m/s.
a. Find the constants A and o .
b. Express the motion in the form x(t) = A;coswt+A,sinot, and
identify the constants A; and A,
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2. k; and k; are the same spring but has different length. Determine
natural circular frequency of the system if W =200 N and k; = 2700
N/m ‘
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3. Draw the free-body diagram and derive the equation of motion using
Newton ’s second law of motion. Mass of a pulley is negligible.
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4. Find the natural frequency of the system shown below, using energy
method. AB isa uniform rigid bar and has mass m.
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5. The underdamped system shown below has m = 10 kg, k =1000 N/m. If
the amplitude of displacement of the third and fifth cycle is 30 mm and 5
mm respectively, Determine the damping constant.




